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SIHASE 20154
Ol &bXb== o 20f&
SARZE ¢ Mt2eDIS

OP=pONE+ (SHel: &)
% 2 p| = Xl = p| g
g s 4-0loH L 4= o 52 8 = X E HE K| SN 52
= 2l 1,168,660 841,675 326,985 | & 2l 1,168,660 841,675 326,985
el 435,688 362,260 73,428 | HIS XA AbRIH] 321,600 336, 100 A14,500
PR3 0 0 0| SXHS A 0 0 0
= 0 0 0| el 0 0 0
) 0 0 0| 2122l 0 0 0
UEt2a33 0 0 W= 0 0 0
OIXI2314 710,057 461,381 248,676 | Ol X2 847,060 505,575 341,485
o2 0 0 0| K=z as 0 0 0
JpyEel 22,915 18,084 4,881| Ol =22A2I24k 8 0 0 0
JIEH 0 0 0| JIEIKIZ 0 0 0
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ooz S0
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@ 428 ci9l: 2 #)
Zaae elo dex =2 N
o108
200 M2l 22,915 18,034 4,881
210 ZEEAN Q=Y 22,915 18,034 4,881
216 Ol A== 22,915 18,034 4,881
216-01 =30=01AH==Y 22,915 18,034 4,881
O6lIxl= Ol K== 22,915,000& = 22,915
700 ML SHUEHcH 1,145,745 823,641 322,104
710 2825 710,057 461,381 248,676
714 OIXIZ23l= 710,057 461,381 248,676
71401 OXIz=l= 710,057 461,381 248,676
Oxl= al= 710,057,000& = 710,057
720 LS O1eH 435,688 362,260 73,428
721 M3 435,688 362,260 73,428
721-03  JIEISIHEL 2 435,688 362,260 73,428
Ogete|H 8=z 435,688,000& = 435,688
= g g A 1,168,660 841,675 326,985
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Gl AFXE== 0 20| A
SIHFAE ¢ ML2ED|2
Q@ XIEH= (crl: zel)
XX .22 . 3. O . JIEAY - BAES JNESL HATX =M Hns2
ZSESFEN 1,168,660 841,675 326,985
TR - DlEke 1,168,660 841,675 326,985
THEHOEE 2 DIgkR DB 25t 321,600 336, 100 214,500
T2 AP X2 (TH 22101 2) 321,600 336, 100 A 14,500
T er 2 =231 321,600 336,100 214,500
01 LBr2AY| 39,000 38,500
01 Al2Z2|H| 39,000 39,000 38,500
g2 SO RS = 20,000,0002! =
o= Sof = 20,000
Ot 282 X 10,000,0002 = 10,000
OB XIS 5,000,0002 = 5,000
ON=SSHSBAIAL 4,000,002 = 4,000
206 X224l 50,000 50,000
o1 wasl 50,000 50,000 50,000
O THXHH 40,000,0002 = 40,000
oorRg=E 10,000,000 = 10,000
401 AlZHILE04Y] 230,000 245,000 A 15,000
01 Al&H] 230,000 230,000 245,000 A15,000
ORHolg & 190,000,0009 = 190,000




XE .22 - M. O . JRAEY - BES INESL HNEC X =M Hlns2

Ot GL-RAEAIAE 2= 30,000,0002! = 30,000
ORSEXNE &M 10,000,0002 = 10,000

405 KHAHEISH| 2,600 2,600 0

01 JHlEZs sy 2,600 2,600 2,600 0
Ozt 1,300,000 %2 = 2,600

SES(QHNMEZ) 847,060 505,575 341,485

SREXE(HH2A21012) 847,060 505,575 341,485

oiRX= ol 847,060 505,575 341,485

602 OIXI= 847,060 505,575 341,485

01 olx= 847,060 847,060 505,575 341,485
oulxi2 847,060,0002! = 847,060

X = & A 1,168,660 841,675 326,985
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b= Ol Xt sxd | XA &
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Ty = =
2009 MIAI | 2,492,783 | 2,143,244 349,544 1,770,943 | 1,770,943 0 0 721,845
20108 & 188,813 172,706 16,107 0 53,521 53,521 0 135,292
20118 & 207,583 182,079 25,504 188,694 188,694 0 18,889
20128 & 235,244 202,000 33,244 355,864 355,864 0 A120,620
20138 & 321,321 277,815 43,506 225,864 225,864 0 95,457
20148 & 380,294 362,260 18,034 521,100 521,100 0 140,806
20159 & 458,603 435,688 22,915 321,600 321,600 0 137,003
Hl 4,284,646 | 3,775,792 508,854 0| 3,437,586| 3,437,586 0 847,060
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SIHIE : 205U
Ol AFRFS @ 20f A
BHTE ¢ 22
EERE
ClIXI & OlIErH
= GilXI(EH) A Bl
20139 =S I 20144 LS T H@ 2015 LS T H® £2(0-@)
=l 850,863 710,057 847,060 137,003
OIxIZ2 2 850,863 710,057 847,060 137,003
a2 850,863 0 0 0
=8 0 710,057 847,060 137,003




